INFLATION



Introduction:

1. The 1960s is a time of prosperity and growth, a period characterized by success in managing the economy. How did we let inflation get out of control?
2. An inflationary period is when everyone suffers from loosing purchasing power. But there are people who benefit from it. Who are the winners and the losers? 
3. In the 1970s the government was pushed to take drastic actions. What was the result?
I.      Inflation gets out of control.
1. What was  J.F. Kennedy’s economic policy characterized by?
-to get out of control

-to call for a new frontier

-to move the country safely through the 1960s

- to be reflected in economic policy

- the first Keynesian president

-in terms of the way they managed the economy

2. What was needed to stimulate the economy in the 1960s? What form did it take?

-a massive tax cut

-  to enact the program
- to pursue the proposals

- to push the passage of the plan through the Congress

3.  
How well did Kennedy’s tax plan work?

- a fiscal measure

-to stimulate the economy

- business was booming, jobs were plentiful…

4.
What danger has these economic policies entailed?
- to heat up                           

- inflationary pressure          

-the real aggregate demand

-to rise at annual rate of… 

5.
What measures against inflationary pressures were debated?
- to unleash the war; 
- to take money out of the hands of consumers

- to declare an unconditional war on poverty;  
-inflationary pressure; 
-to retreate

6. 
How was a stage for a surge of inflation set?
       - to upgrade close to capacity ;
        - to keep spending

       - labour approached full employment

       - to bid up wages

7.
What was the measure against it? Was it enough? 

   -to declare a 10 % surtax ;
   - to be held off;  

   -not to enact till 1968;

8.
What is a “go-go” economy?

   - to run on a feverish pitch;
   - to begin a cycle of inflationary pressures

9.
Does this kind of economy necessarily go hand in hand with inflation?

 
Explain using the graph.

   - economic cure /  Keynesian remedy; 
   -the price level; 
   -to produce at the economy’s capacity

10. What should be done to lower demand (according to Keynes’ model)

Does this model really work? 
    - a tax increase;

    -to be tried  

II. Winners and losers.
1. Who are those who benefit from inflation?
   -to benefit from rising prices 

   - to go in the debt to by a house;

   - to gain from inflation

   -to pay back one’s loans with cheaper dollars

   -to coincide with a credit boom

   - to be urged to buy on credit

   - inflationary psychology emerged

   -to find oneself worse off

   -to lead to recessions

2. What  groups of citizens suffer from inflation?
-    senior citizens

-    to live on  fixed incomes

-    to have no extra money to cover even a small price increase

-    to lead the consumer price increase to regular increases

-    the working poor and the unemployed

-    to go for the necessities of life 

-    prices of the basics were rising the fastest

3. How did these groups of people fight for a decent living? Was their effort successful?
· to keep pace with inflation; 

·  to join groups; 
· an effective movement;

· to fight for a decent living;
·  a strike for higher payment;
·  to become entrenched

4.
What are the factors that cause inflation to increase during the period of inflation?
-     an uncertainty about the future 
· to run out of steam

· to run an efficient productive economy

· the fear  of falling behind

III. The result of drastic measures
1. Was president Nixon ready to increase taxes? Why?
-    to shrug off the importance of inflation

-    the responsibility rests with the administration 

-    to be more willing than his predecessor to accept a traditional approach

-    to slow the economy

2. What was Nixons’s plan to combat inflation? Did it help?


-What was its impact on the economy? / on the inflation?

· to cut back on federal spending;
·  to contract inflation
· to combat inflation; 
· to restrict the money supply
· an outcry against the made-in-Washington recession

3.
What was the “stronger medicine” president Nixon was ready to accept?

-    a time for decisive measures

· to directly freeze prices and wages

· to control price ceiling

-     to break the vicious circle of spiraling prices and costs

4.
Was price and wage control effective and could it stop  the spiral of inflation?
· to zoom up (about prices)

· expectation of inflation

· to resume a free market system

· to lift controls

· to prove ineffective (in the long run)

5. Economists turn from Keynesian remedy to other ones. Why?

· to plunge the economy into recession

· not to have any real affect on GNP and employment

· to trade off some of the employment ; -to bring inflation down

